THE LEGEND OF KING ARTHUR
Write in the box the best option: A, B, Cor D

1 - This story happens in the .......
a) sixth century
b) six century
c) six years old
d) sixth years

2 - The knights in England ...
a) are fighting for their kings.
b) are fighting for their knights.
c) are very dangerous.
d) are king’s enemies.

3 - Arthur is ...
a) King Uther's son.
b) the wizard’s son.
c) a poor family’s son
d) a knight.

4 - Baby Arthur lives...
a) in a castle.
b) in a palace.
c) in the countryside.
d) near a lake.

5 - No one knows who............. is.
a) Arthur
b) Uther
c) Merlin
d) Excalibur

5 = King Uther dies...
a) after five years
b) after five centuries.
c) after 15 years.
d) after 15 centuries.
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6 - When the king dies, England needs a new ...
a) a new prince
b) a new knight
c) a new king
d) a new wizard

7 = In London , a mysterious ...... appear in a stone.
a) king
b) sword
c) noble
d). knight

8 - The person who ............ the sword will be the king of England.
a) pulls
b) pulls out
c) take
d) takes

9 - Now, Arthur is ....
a) 15 years.
b) 15 years old.
c) 50 years.
d) 50 years old.

10- Arthur becomes... {
a) the king of England.
b) a very brave knight. '

c) a frightened king.
d) a dragon.

11 - Merlin, the wizard...
a) helps Arthur to be a king.
b) marries princess Guinevere.
c) is a bravest knight.
d) is a very strong king.

12 - Arthur becomes a .....
a) a wise and good king.
b) a wise and funny king.
c) a nice and kind king.
d) a nice and funny king.
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